UNIV. BEOGRAD. PUBL. ELEKTROTEHN. FAK. Ser. Mat. 12 (2001), 35–37.

GENERALISED MOMENTS FOR THE POISSON LAW

Slavko Simić

For the ordinary POISSON probability law with parameter λ we consider generalised moments of the form $E(X^{\rho}L(X))$, $\rho \in R$, where $L(\cdot)$ is slowly varying function in KARAMATA sense. We are proving here that $E(X^{\rho}L(X)) \sim \lambda^{\rho}L(\lambda), \lambda \to \infty$, and, as a consequence, obtain inversion formulae in terms of LAPLACE-STIELTJES transform.

Preliminaries. The POISSON probability law with parameter $\lambda > 0$ is defined for a random variable X as: $P\{X = k\} = \frac{\lambda^k}{k!} e^{-\lambda}$. Its ordinary moments of order m are defined as:

$$E(X^m) := \sum_{k=1}^{\infty} e^{-\lambda} k^m \frac{\lambda^k}{k!} \qquad (m \in \mathbf{N}).$$

There is a very complicated asymptotic formula for $E(X^m)$ when $m \to \infty$, $1 - \delta < \lambda < 1 + \delta$, $0 < \delta < 1$, (cf.[3] p.p. 294-5). Our task here is to reveal the behavior of generalised moments

$$E(X^{\rho}L(X)) := \sum k^{\rho}L(k) \frac{\lambda^{k}}{k!} e^{-\lambda} \qquad (\rho \in \mathbf{R}),$$

for large values of parameter λ . We take a slowly varying function L(x) as defined for x > 0, positive, measurable and satisfying $\forall t > 0 : L(ty) \sim L(y), (y \to \infty)$. Some examples of slowly varying functions are:

1, $\log^{a} x$, $\log^{b}(\log x)$, $\exp(\log^{c} x)$; $a, b \in \mathbf{R}$; 0 < c < 1.

Topics of KARAMATA's theory of regular variation can be found in [1] and [4]. A tantamount of our results is a valuation of the POISSON distribution function

$$P(x) := \sum_{k \le x} \frac{\lambda^k}{k!} e^{-\lambda} \qquad (x, \lambda \in \mathbf{R}^+),$$

Keywords and Phrases: Poisson probability law, Regular variation

²⁰⁰⁰ Mathematics Subject Classification: 60E99

(cf.[5]). Namely, in [5] we proved

(1)
$$P(\xi\lambda) = \begin{cases} O(1) e^{-\lambda g(\xi)} & (0 < \xi < 1); \\ 1 + O(1) e^{-\lambda g(\xi)} & (\xi > 1); \end{cases} \quad (\lambda \to \infty),$$

where $g(\xi) := \xi \log \xi + 1 - \xi$ is convex for $\xi > 0$ and positive for $\xi \neq 1$.

Results. For generalised moments of the POISSON law, mentioned above, we have the following theorem:

Theorem 1. For any $\rho \in \mathbf{R}$,

$$E(X^{\rho}L(X)) \sim \lambda^{\rho}L(\lambda) \qquad (\lambda \to \infty).$$

For the proof we need two lemma's.

Lemma 1. For any slowly varying $L(\cdot)$ defined as above, and any $\rho \in \mathbf{R}$,

$$e^{-\lambda} \sum_{k \le \xi \lambda} k^{\rho} L(k) \frac{\lambda^k}{k!} \sim \begin{cases} o(\lambda^{\rho} L(\lambda)) & (0 < \xi < 1); \\ \lambda^{\rho} L(\lambda) & (xi > 1). \end{cases} \quad (\lambda \to \infty)$$

This lemma is proved in [5] using the estimation (1).

Lemma 2. For $\alpha > 0$ and any slowly varying $L(\cdot)$,

$$\sup_{t \ge y} (t^{-\alpha} L(t)) \sim y^{-\alpha} L(y) \qquad (y \to \infty).$$

This is a well-known fact (cf.[1] p. 23).

Proof of Theorem 1. We have that

$$E(X^{\rho}L(X)) := e^{-\lambda} \sum_{k} k^{\rho}L(k)], \frac{\lambda^{k}}{k!} = e^{-\lambda} \Big(\sum_{k < 3\lambda} + \sum_{k \ge 3\lambda} \Big) k^{\rho}L(k) \frac{\lambda^{k}}{k!} = S_1 + S_2.$$

According to Lemma 1, $S_1 \sim \lambda^{\rho} L(\lambda)$, $\rho \in \mathbf{R}$ $(\lambda \to \infty)$. Using Lemma 2 and the fact that for $k \geq 3\lambda$,

$$\frac{\lambda^k}{k!} \le \frac{(k/3)^k}{k!} = o(1)(e/3)^k \quad (k \to \infty)$$

we get

$$S_2 = o(1) \sup_{k \ge 3\lambda} (k^{-|\rho| - 1} L(k)) \sum_{k \ge 3\lambda} k^{\rho + |\rho| + 1} (e/3)^k = o(1)\lambda^{-|\rho| - 1} L(\lambda) \quad (\lambda \to \infty)$$

since the last sum is tending to zero as a reminder of a convergent series. Therefore, Theorem 1 is proved.

We consider now a distribution function F with a support on \mathbb{R}^+ and its LAPLACE-STIELTJES transform ϕ defined for s > 0 as

$$\phi(s) := \int_0^\infty e^{-st} \mathrm{d}(F(t)).$$

Derivatives $\phi^{(k)}, k \in N$, always exist and

$$(-1)^k \phi^{(k)}(s) = \int_0^\infty e^{-st} t^k \mathrm{d}F(t).$$

Our task now is to obtain an inversion formula which is a generalisation of the known one $(m = 0, \text{ cf.}[\mathbf{2}], \text{ II p. 270}).$

Theorem 2. For any fixed $m \in \mathbf{N}$,

$$\sum_{k \le xy} (-1)^{k+m} \frac{y^{k+m}}{k^m k!} \phi^{(k+m)}(y) \to F(x) \quad (y \to \infty)$$

at any point of continuity of the distribution F.

Proof. Putting in Lemma 1, $L(\cdot) := 1$, $\rho = -m$, $\lambda = ty$, $\xi t = x$, we get:

(2)
$$\sum_{k \le xy} \frac{y^{k+m}}{k^m k!} e^{-ty} t^{k+m} \to \begin{cases} 0, & t > x; \\ 1, & t < x. \end{cases} \quad (y \to \infty)$$

Integrating (2) over $t \in \mathbf{R}^+$ with respect to the measure dF, we obtain the assertion from Theorem 2.

REFERENCES

- 1. N. H. BINGHAM at al.: Regular variation. Camb. Univ. Press (1989).
- 2. W. FELLER: An introduction to probability theory and its applications. I, II. J.Wiley (1971).
- 3. V. N. SACKOV: Vvedenie v kombinatornie metodi diskretnoi matematiki. Moskva, "Nauka" (1982).
- 4. E. SENETA: Functions of regular variation. Springer NY (1976).
- S. SIMIĆ: Segments of exponential series and regulrly varying sequences. Mat. Vesnik, 51 (1999).

Mutapova 63, stan 1, 11000 Beograd, Yugoslavia (Received February 10, 2000)